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2x 0= 3x0=0
2x 1= 3x1= 3
2x 2= 3Ix2= 6
2x 3= 3x3= 9
2x 4= 3xu=12

IxS5=15
2x 6= Ix 6= 18
2x 7= Ix7=21
2x 8= Ix8=24
2x 9= 3x9=27
2x10=20 3x10=30
2x Il =22 3x =33
2x12=N Ix12=36

bx Il =66
6xi2=72
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9 x12 =08 10 x12 =120 I x 12 =132 12 x12 = Wy

0x 0= 0 x0= 0 2x0= 0

1= 9 0x l= 10 Hx 1= N 12x 1= 12
2= 18 10x 2= 20 Ix 2= 22 2x 2=24
3=27 0x 3« 30 IHx 3=33 12x 3= 36
4Y=36 10x 4w uw Ihx 4= 44 12x 4= us

5 =4S 0x 5« 50 Ix 5= 55 12x 5= 60
6=54 0x 6w 60 x 6= 66 2x 6= 72
7=63 0x 7= 70 Nx 7= 77 12x 7= 84
8=72 0x 8= 80 Ilx 8= 88 12x 8= 96
9« 8 0x 9= 9 Ilx 9= 99 12x 9=108
Qx10 =% 10 x 10 = 100 I x10= 110 12 %10 =120
9x Il « 99 10x 11 =10 Hx il=i21 12x 11 =132
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What's the time?

5:05

The hour hand is
between 5 and 6.

The minute hand is on
1. and 1x5=5,




